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izl T m3 213.4 210

BAEELT oy 1.0 1
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BRiR (L) 2. 5m=W<4. Om m3 118.8 120

BRIK (BEATL) 2. 5m=W<4. Om m3 266. 6 270
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EETY b m2 80.9 81

PEEET = 1.0 1
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B #h 44 EEEL=10 m2 8.4 8

KiRENSA T VP ¢ 50 m 37.6 38

2570y R = 1.0 1

BJovy % % 35cm m2 241. 1 241

EAraroy—+ 18-8-40 m3 47.2 47
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=RAIE )
B = B RRE (L fb) ]
(m) B ¥ BB = T H B T B W = T H B &

NO. 6+8 0. 000 1.2
NO. 6+13.558 |  5.558 1.2 1.20 6.7
NO. 8.000 26. 442 2.2 1.70]  45.0
NO. 8+10 10. 000 0.7]  0.95 9.5
NO. 9 10. 000 2.6  1.65]  16.5
NO. 9+10 10. 000 2.9 275 215
NO. 10.000 10. 000 3.4 315 315
NO. 10+10 10. 000 2.8 3.10  31.0
NO. 10+10 0. 000 2.1  2.45 0.0
NO. 11.000 10. 000 3.6|  2.85|  28.5
NO. 11+7.11 7.110 3.6  3.60  25.6

it 99. 110 2218
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(m) BT B[ B = ] F B E B m [ F 5 ¥ T H B &

NO. 6+8 0.0 0.0 0.0
NO. 6+13.558 |  5.558 0.0/ 0.00 0.0 2.1 1.05 5.8 0.0 0.00 0.0
NO. 8 26. 442 0.2 0.10 2.6 5.7 3.90  103.1 0.0 0.00 0.0
NO. 8+10 10. 000 1.8 1.00]  10.0 5.5|  5.60]  56.0 0.0 0.00 0.0
NO. 9 10. 000 0.4 110l 110 4.6 505  50.5 0.0 0.00 0.0
NO. 9+10 10. 000 2.8 1.60|  16.0 2.7l 3.65]  36.5 5.0 250  25.0
NO. 10 10. 000 2.0 240  24.0 5.2|  3.95|  30.5 0.0, 250 250
NO. 10+10 10. 000 0.0]  1.45]  14.5 59| 555 555 0.0 0.00 0.0
NO. 10+10 0. 000 1.3 1.10 0.0 7.7 6.80 0.0 0.0 0.00 0.0
NO. 11 10. 000 2.0l 1.65]  16.5 0.0 3.85| 385 0.0 0.00 0.0
NO. 11+7.11 7.110 2.0l 2.00 0.0 0.0l 0.00 0.0 0.0 0.00 0.0

it 99. 110 95 3854 500
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i) =% 1.0
C Joy Y EHERE o’ 56. 9
3EE N n 0.0
E L 56. 9
D Joy o #EHERE o’ 55. 8
3EE N n 18.9
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BRELEE] o 131.6
HEEE =% 1.0
B Jny o EHERE o 62.5
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m) [B @[ F B % & | B @ F B[ W & | B m]F 5B =
NO. 6+8 1.9 0.8 0.6
NO. 6+13.558 [  5.558 1.9 1.90 10.6 0.8 0. 80 4.4 0.6 0. 60 3.3
NO. 8 26. 442 1.6 1.75 46.3 0.6 0.70 18.5 0.5 0.55 14.5
NO. 8+10 10. 000 2.6 2.10 21.0 1.0 0. 80 8.0 0.9 0.70 7.0
NO. 9 10. 000 1.8 2.20 22.0 0.6 0. 80 8.0 0.7 0.80 8.0
NO. 9+10 10. 000 2.2 2.00 20.0 0.7 0.65 6.5 0.8 0.75 1.5
NO. 10 10. 000 1.9 2.05 20.5 0.5 0. 60 6.0 0.8 0.80 8.0
NO. 10+10 10. 000 1.9 1.90 19.0 0.6 0.55 5.5 0.7 0.75 1.5
— = = =
= & 82.000 159. 4 56.9 55.8
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(m) [i51] 1 = [iz1] M 1Y H = 13 B} = 13 H =

NO. 6+8 1.4 0.7
NO. 6+13. 558 5. 558 1.4 1. 40 7.8 0.7 0.70 3.9
NO. 7+15 21. 442 1.4 1. 40 30.0 0.7 0.70 15.0

— —~ —

B A 217.000 317.8 18.9
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B HERIE(m2)
Al I H BB W =
(m) (m) B | FHm = E | FHEE = B | FH¥m =
1SEBa YY) —+
No6  + 8300 0.75 0.00 0.00
No8  + 10.605 43.300 0.75 0.750 325 0.00 0.000 0.00 0.00 0.000 0.00
25 EBEaH)—b
No8  + 10.905 0.80 0.00 0.00
No.10 + 10.000 37.500 0.80 0.800 30.0 0.00 0.000 0.00 0.00 0.000 0.00
a H 80.800 62.5 0.00 0.00
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£ 2/2
= HEEIE(m2)
p:l| H BB OB 0.7+0.45H w E
(m) (m) B @ | FHEm = MR E = F ¥ B =
No6 + 8000| 050 0.93
No6  + 10.000| 0.78 2.000 1.05 0.990 1.98 0.000 0.00 0.000 0.00
No6 + 16.933| 173 6.930 1.48 1.265 8.77 0.000 0.00 0.000 0.00
No7 + 1557| 240 3.920 1.78 1.630 6.39 0.000 0.00 0.000 0.00
No7 + 6792| 252 5.200 1.83 1.805 9.39 0.000 0.00 0.000 0.00
No7 + 6.792| 3.20 0.000 2.14 1.985 0.00 0.000 0.00 0.000 0.00
No7 + 9503| 296 2.710 2.03 2.085 5.65 0.000 0.00 0.000 0.00
No7 + 10.000 | 3.05 0.500 2.07 2.050 1.03 0.000 0.00 0.000 0.00
No7 + 11.000| 3.22 1.000 2.15 2.110 2.1 0.000 0.00 0.000 0.00
No7 + 11.000| 242 0.000 1.79 1.970 0.00 0.000 0.00 0.000 0.00
No7 + 15000| 3.10 4.000 2.10 1.945 7.78 0.000 0.00 0.000 0.00
a8 H 26.260 43.1 0.00 0.00
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TITHEHESE
R RE Y3
B A it (5 W E
(m) B @ [ F 5 E | BHm | TH | BE | B m | TH [ BE | B@E | FH ] KE
NO. 6+8 0.000 0.0
NO. 6+13.558 5.558 0.0 0.00 0.0
NO. 8 26.442 0.0 0.00 0.0
NO. 8+10 10.000 0.0 0.00 0.0
NO. 9 10.000 3.9 1.95 19.5
NO. 9+10 10.000 0.0 1.95 19.5
NO. 10 10.000 0.0 0.00 0.0
NO. 10+10 10.000 0.0 0.00 0.0
NO. 10+10 0.000 0.0 0.00 0.0
NO. 11 10.000 4.9 2.45 24.5
NO. 11+7.11 7.110 0.0 2.45 17.4
&it m m m
99.110 80.9 0.0 0.0
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ZEIMESHE 1/1
& W RO &t " = By | 1 2 |
FERET = 1.0
axxy)
WET Y b m’ 80.9




No.

ZHREIREHESE
BEX Y F
U= L=_RiicE ]
m) B @ F B8 = T BB = T B W = T B W =
NO. 6+8 0.000 0.0
NO. 6+13.558 |  5.558 0.0 0.00 0.0
NO. 8 26.442 0.0 0.00 0.0
NO. 8+10 10. 000 0.0 0.00 0.0
NO. 9 10. 000 3.9 1.95 19.5
NO. 9+10 10. 000 0.0 1.95 19.5
NO. 10 10. 000 0.0 0.00 0.0
NO. 10+10 10. 000 0.0 0.00 0.0
NO. 10+10 0.000 0.0 0.00 0.0
NO. 11 10. 000 4.9  2.45] 245
NO. 11+7.11 7.110 0.0l 2.45 17.4
2
s 99. 110 80.9
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MEIHNEERTE 1/2
£ W ] H =1 = Bl 1 2 |# E

1570y Y iEHHERE =K 1.0
axXzY)

wInvy | #%# =350 m’ 164. 7
EAaLs Y- b 18-8-40 m° 26.2
EAH# RC-40 m° 66. 1
B 4t t=10 m’ 8.4
KiRESA T VP ¢ 50 m 37.6
2570y U EHEEE =K 1.0
D))

#wInvy | #%# =350 m’ 241.1
EAaLsY— b 18-8-40 m° 47.2
EAHH# RC-40 m° 123.4
B #h#t t=10 m’ 13.4
KiRE/SA T VP ¢ 50 m 62.9
1EERaLH Y —F EE| m 43.3
(1omZ Y)

avsy—+ 18-8-40 m° 1.4
R INBY m’ 4.5
EHRA RC-40 =200 m’ 7.5
B 4t t=10 m’ 0.1
2EEBIVH Y — b EE| m 37.5
(1omZ Y)

avsy—+ 18-8-40 m° 1.5
R INBY m’ 4.5
BEHRA RC-40 =200 m’ 8.0
B 4t t=10 m’ 0.2




HEIHSHES 2/2
& W B O® & g X B 2 | =
12/ 01T = 1.0
(EED))
avyy—+k 18-8-40 m’ 0.6
Gtk WSS m’ 4.9
28/ 0T = 1.0
(EED))
avyy—+k 18-8-40 m’ 1.8
Gt WSS m’ 14.0
38/ Ot T = 1.0
(EED))
avyy—+k 18-8-40 m’ 2.5
Gtk WSS m’ 18.5
35 E ke = 1.0
(EED))
avsy—+k 18-8-40  |H<2n EHEE HY m’ 8.0
avoy—k 18-8-40  |2m<H<5m HEEHRE HY m’ 50. 9




SitEE 15J0v iR # = St & E No.
A—-—FL—J
Gr-C-28B N\
AN
IEA—FL—LE®
AN
AN
25, 1345\ AN
S0
Log ‘?0&
g =1
v ElH
RC-40
£
3:—
= Eamavo -
Vil t=15ecm 18-8-40
EADHH
RC-40
TRl
=e
=
EEmovsy— N ER#H
]ﬁlsg—%—ng : RC-40
1.0m& Y
% b B =1 = B o =
0y o iEAHHERE
BwJOvsy
t=35¢m 1.118H m?
EAaVH Y-k 1.118Hx0. 15+ (0. 175+0. 25) /2% 0. 15
18-8-40 = 0.168H40. 032 m®
=ZIADHM (0.345+40. 345+ (H—0.4) x0.1) x (H—0.4)/2
RC-40 = (0.65+0. 1H) x (H—0.4) /2 m®
B #h4f (1.118Hx 0. 35+0. 168H+0. 032) /10
t=10 (0. 559H40. 032) /10 m?
KigZENAT
VP ¢ 50mm 0.559 x (H—0.3) /2 m

X kiR E A FIFm’ S 1B RTE L BRANEBAEL)




1270y 9 e

£l = R4S BB I T 1 R 1/2

B wIovs @) ERAaVHY— k@) Ak ()
B:l| = H il Bt 1.118H 0. 168H+0. 032 (0.6540.1H) x (H—0.4) /2 i3]
(m) (m) | FHmE | % 8 H| THEE | 2| @ | TowE | K 8

No.6  + 8.300 | 1.77 1.98 0.33 0.57
No. 6 + 10.000 [ 2.00 1.700 2.24 2.110 3.59 0.37 0. 350 0.60 0. 68 0.625 1.06
No.6  + 16.933 | 2.96 6. 930 3. 31 2.775 19.23 0.53 0. 450 3.12 1.21 0. 945 6.55 |BC3
No. 7 + 1.557 [ 3.62 5. 440 4.05 3. 680 20.02 0.64 0. 585 3.18 1.63 1.420 7.72 |EC3’
No.7 + 1.557 | 2.35 0. 000 2. 63 3.340 0. 00 0.43 0. 535 0. 00 0.86 1.245 0. 00
No. 7 + 6.792 [ 3.15 5.200 3.52 3.075 15.99 0.56 0. 495 2.57 1.33 1.095 5.69
No.7 + 9.503 | 3.60 2.710 4.02 3.770 10. 22 0.64 0. 600 1.63 1.62 1.475 4. 00
No. 7 + 10.000 [ 3.70 0. 500 4.14 4. 080 2.04 0. 65 0. 645 0.32 1.68 1.650 0.83
No.7  + 17.000 | 4.91 7.000 5. 49 4.815 33. 71 0. 86 0. 755 5. 29 2.57 2.125 14.88
No. 7 + 17.000 [ 3.97 0. 000 4. 44 4. 965 0.00 0.70 0.780 0.00 1.87 2.220 0.00
No.8  + 4.50 3.000 5.03 4.735 14. 21 0.79 0. 745 2.24 2. 26 2. 065 6. 20
No. 8 + 3.00 0. 000 3.35 4.190 0.00 0.54 0. 665 0.00 1.24 1.750 0.00
No.8 + 5.000 | 3.90 5. 000 4.36 3. 855 19.28 0. 69 0.615 3.08 1.82 1.530 7.65
No. 8 + 5000 [ 3.70 0. 000 4.14 4.250 0.00 0. 65 0.670 0.00 1.68 1.750 0.00
No.8  + 10.000 | 4.60 5. 000 5. 14 4. 640 23. 20 0. 80 0.725 3.63 2.33 2. 005 10.03
No. 8 + 10.605 [ 4. 71 0.610 5.21 5. 205 3.18 0.83 0.815 0.50 2.42 2.375 1.45

- i 43. 090 164. 67 26. 16 66. 06




1570y 9 iEfEE:
£ & 2/2
= B 4t () KikZE/84 7 (m)
A R H | B M (0. 559H+0. 032) /10 0.559 x (H—0.3) /2 T
(m) (m) | | FHEE | & = | | FHEE | & = T ¥rE =
No.6 + 8.300 | 1.77 0.10 0. 41
No.6  + 10.000 | 2.00 1.700 0.12 0.110 0.19 0.48 0. 445 0.76
No.6  + 16.933 | 2.96 6. 930 0.17 0. 145 1.00 0.74 0.610 4.23 BC3
No.7 + 1.557 | 3.62 5. 440 0. 21 0.190 1.03 0.93 0.835 4.54 EC3’
No.7 + 1.557 | 2.35 0. 000 0.13 0.170 0.00 0.57 0. 750 0.00
No.7 + 6.792 | 3.15 5. 200 0.18 0. 155 0. 81 0.80 0. 685 3.56
No.7 + 9.503 | 3.60 2.710 0.20 0.190 0. 51 0.92 0. 860 2.33
No.7 _ + 10.000 | 3.70 0. 500 0. 21 0. 205 0.10 0.95 0.935 0.47
No.7  + 17.000 | 4.91 7.000 0.28 0. 245 1.72 1.29 1.120 7. 84
No.7 _ + 17.000 | 3.97 0. 000 0.23 0. 255 0.00 1.03 1.160 0. 00
No.8  + 4.50 3.000 0.25 0. 240 0.72 1.17 1.100 3.30
No.8  + 3.00 0. 000 0.17 0.210 0.00 0.75 0. 960 0. 00
No.8 + 5.000 | 3.90 5. 000 0.22 0.195 0.98 1.01 0.880 4.40
No.8 + 5.000 | 3.70 0. 000 0. 21 0.215 0.00 0.95 0. 980 0. 00
No.8  + 10.000 | 4.60 5. 000 0.26 0.235 1.18 1.20 1.075 5. 38
No.8  + 10.605 | 4.71 0.610 0.27 0. 265 0.16 1.23 1.215 0.74
& & 43.090 8. 40 37.55




SHEE 257D vEERER £ it EE No.

feln

Ai—FL—N

Gr-C-28B \\
1Efi—FL—N &8 %

AN

/\ T AN
615 %
- 0

#7099 ~ -
t=35cm

9 5

EAHavosy—+t
t=20cm 18-8-40

5000<H=7000

N ErADH
RC-40
4
RN \
H / N EEtEREEL
] M o
SgEaL Ay e L
zgwﬁg—&?wogj : RC-40
1.0m& Y
% b H =1 = B o =
0y o iEAHHERE

BwJOvsy
t=35¢m 1.118H m?
=AaL5 Y-k 1.118Hx0. 2+ (0. 17540. 275) /2% 0. 2
18-8-40 = 0.224H40. 045 m®
ZIADHM (0.34540. 345+ (H—0.4) x0.1) x (H—0.4) /2
RC-40 = (0.65+0. 1H) x (H—0.4) /2 m®
B #h4f (1. 118H% 0. 35+ 0. 224H+0. 045) /10
t=10 = (0.615H+0.045) /10 m?
KikENA T
VP ¢ 50mm 0.615x (H—0.3) /2 m

X kiR E A FIFm’ S 1B RTE L BRANEBAEL)




£l = R4S BB I T 1 R 1/2
B wIovs @) ERAaVHY— k@) Ak ()
B:l| = H il Bt 1.118H 0. 224H+0. 045 (0.6540.1H) x (H—0.4) /2 i3]
(m) (m) | FHmE | % 8 H| THEE | 2| @ | TowE | K 8
No. 8 10.905 | 4.46 4.99 1.04 2.22 BC4
No. 8 15.000 | 5.20 3. 945 5.81 5. 400 21.30 1.21 1.125 4. .44 2.81 2.515 9.92
No. 8 15.000 | 4.65 0. 000 5. 20 5. 505 0. 00 1.09 1.150 0. 00 2.37 2. 590 0. 00
No. 9 0.000 | 5.55 4.820 6.20 5.700 27. 47 1.29 1.190 5.74 3.10 2.1735 13.18
No. 9 0.000 | 5.00 0. 000 5. 59 5. 895 0. 00 1.17 1.230 0. 00 2. 65 2. 875 0. 00
No. 9 3.000 | 5.54 2. 885 6.19 5.890 16. 99 1.29 1.230 3.55 3.09 2.870 8.28
No. 9 3.000 | 5.04 0. 000 5. 63 5.910 0. 00 1.17 1.230 0. 00 2. 68 2. 885 0. 00
No. 9 6.000 | 5.58 2. 885 6.24 5.935 17.12 1.29 1.230 3.55 3.13 2. 905 8.38
No. 9 6.000 | 4.93 0. 000 5. 51 5. 875 0. 00 1.15 1.220 0. 00 2. 59 2. 860 0. 00
No. 9 10.000 | 5.65 3. 855 6.32 5.915 22.80 1.31 1.230 4.74 3.19 2.890 11. 14
No. 9 10.000 | 5.00 0. 000 5. 59 5. 955 0. 00 1.17 1. 240 0. 00 2. 65 2. 920 0. 00
No. 9 15.124 | 5.92 4.935 6.62 6.105 30. 13 1.37 1.2170 6.27 3.43 3. 040 15.00 [EC4
No. 10 0.000 | 6.80 4. 880 7. 60 7.110 34.70 1.57 1.470 7.17 4.26 3. 845 18.76
No. 10 1.000 [ 6.98 1.000 7.80 7.700 1.170 1.61 1.590 1.59 4. 43 4. 345 4.35
No. 10 1.000 | 6.63 0. 000 7. 41 7. 605 0. 00 1.53 1.570 0. 00 4.09 4. 260 0. 00
No. 10 3.000 | 6.99 2.000 7. 81 7.610 15.22 1.21 1.370 2.74 4. 44 4. 265 8.53
No. 10 3.000 | 6.59 0. 000 1.37 7.590 0. 00 1.14 1.175 0. 00 4.05 4.245 0. 00
No. 10 5.000 | 6.95 2.000 1.71 7.570 15.14 1.20 1.170 2.34 4. 40 4.225 8.45
No. 10 5.000 | 6.55 0. 000 7.32 7. 545 0. 00 1.14 1.170 0. 00 4.01 4.205 0. 00
No. 10 7.000 | 6.91 2.000 1.173 7.525 15.05 1.20 1.170 2.34 4.36 4.185 8.37
No. 10 7.000 | 5.56 0. 000 6. 22 6.975 0. 00 0.97 1.085 0. 00 3. 11 3.735 0. 00
No. 10 9.700 | 6.05 2.700 6.76 6.490 17.52 1.05 1.010 2.173 3.55 3.330 8.99
- i 37.905 241. 14 47.20 123. 35




2570y ) iElEE
£ & 2/2
= B 4t () KikZE/84 7 (m)
A R H | B M (0. 615H+0. 045) /10 0.615x (H—0.3) /2 T
(m) (m) | | FHEE | & = | | FHEE | & = T ¥rE =
No. 8 10.905 | 4.46 0.28 1.28 BC4
No. 8 15.000 | 5.20 3.945 0.32 0. 300 1.18 1.51 1.395 5. 50
No. 8 15.000 | 4.65 0. 000 0.29 0. 305 0.00 1.34 1. 425 0.00
No. 9 0.000 | 5.55 4.820 0.35 0.320 1.54 1.61 1. 475 7. 11
No. 9 0.000 | 5.00 0. 000 0. 31 0.330 0.00 1.45 1.530 0.00
No. 9 3.000 | 5.54 2. 885 0.35 0.330 0.95 1.61 1.530 4.41
No. 9 3.000 | 5.04 0. 000 0. 31 0.330 0.00 1.46 1.535 0.00
No. 9 6.000 | 5.58 2. 885 0.35 0.330 0.95 1.62 1.540 4.44
No. 9 6.000 | 4.93 0. 000 0. 31 0.330 0.00 1.42 1.520 0.00
No. 9 10.000 | 5.65 3. 855 0.35 0.330 1.27 1.65 1.535 5.92
No. 9 10.000 | 5.00 0. 000 0. 31 0.330 0.00 1.45 1.550 0.00
No. 9 15.124 | 5.92 4.935 0.37 0. 340 1.68 1.73 1.590 7. 85 EC4
No. 10 0.000 | 6.80 4.880 0.42 0.395 1.93 2.00 1. 865 9.10
No. 10 1.000 | 6.98 1.000 0.43 0.425 0.43 2.05 2. 025 2.03
No. 10 1.000 | 6.63 0. 000 0. 41 0.420 0.00 1.95 2.000 0.00
No. 10 3.000 | 6.99 2. 000 0.43 0.420 0.84 2.06 2. 005 4.01
No. 10 3.000 | 6.59 0. 000 0. 41 0.420 0.00 1.93 1.995 0.00
No. 10 5.000 | 6.95 2. 000 0.43 0. 420 0.84 2.04 1.985 3.97
No. 10 5.000 | 6.55 0. 000 0. 41 0.420 0.00 1.92 1.980 0.00
No. 10 7.000 | 6.91 2. 000 0.43 0. 420 0.84 2.03 1.975 3.95
No. 10 7.000 | 5.56 0. 000 0.35 0.390 0.00 1.62 1.825 0.00
No. 10 9.700 | 6.05 2.700 0.38 0. 365 0.99 1.77 1. 695 4.58
& & 37.905 13. 44 62. 87
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No. 8 + 10.9 m 3.88
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2.00
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SEHEE 1SE#a2 VU -+ H 2 f B & No.

18-8-40 | \ /
o
2 Q
o
S
=
2 %&2 % 3
o~ o~
HEEH
100 550 ogq RC-40
750
10. Om4 1)
% 7 & g = B4 H =
HE@ga o) —Fk
avyly—+r
18-8-40 (0.35x0.14+1/2x (0.354+0. 1) x0.45) x10.0 = 1.363 m® 1.363
I
INEY (0.3540.1) x10.0 = 4.50 m? 4.50
A
t=200 RC-40 0.75%10.0 = 7.50 m? 7.50
B #h#t

t=10 (0.35x0.14+1/2x (0.3540.1) x0.45) x10.0x1/10 = 0.14 m’ 0.14




SEtEE 2BEE®aH Y- # o= S & No.
avoy—+ 100 /45@& gt
18-8-40 | \ /
™ o
2 &
o
et
(=] (=]
4 % 8&) Q
HEH
100 600 1og RC-40
800
10.0m& V)
% b7 H =1 = B #H =2
HE@ga o) —Fk
avyly—+r
18-8-40 (0.35x0. 141/2 % (0.3540. 1) x0.50) x 10. 0 = 1.475 m® 1.475
I
INEY (0.3540.1) x10.0 = 4.50 m? 4.50
A
t=200 RC-40 0.80%10.0 = 8.00 m? 8.00
B #h#t
t=10 (0.35%0.14+1/2x (0.35+0.1) x0.50) x10.0x1/10 = 0.15 m? 0.15




SiEE 15/hA1LT # it B OE No.

il

EEE

300

1
||
avsy—F
18-8-40
= [=.
1.0& Y
% 7 B g = B H 2
1E/hOLET
avy -+ A-A
18-8-40 1/2 % (0.89541.102) x 2. 070 = 2.067 m®
B-B
1/2 % (0.89541.107) x 2. 120 = 2.122 m®
1/2x (2.067+2.122) x0.3 = 0.628 m* 0.628
ETIE =T A-A
EDHELEY 1/2 x (0. 895+1.102) x 2. 070 = 207 m?
B-B
1/2x (0. 8954+1.107) x 2. 120 = 2.12 m?
E&E
1/2x (2.074+2.12) x1.118x0.3 = 0.70 m?
= 4.89 m? 4.89

NO. 6+8. 043t R 1.0




SiHEE 28/ O1kT # = M E E No.
1IEmE
’:“ A-A B-B
300
950
M T
R / _
EVE/R el
18-8-40
t 1456
1.0& Y
£ 7 B g = B H 2
28/ OLET
avy -+ A-A
18-8-40 1/2x (0.95+1. 456) x 5. 06 = 6.087 m®
B-B
1/2x (0.95+1.461) x5.11 = 6.160 m®
1/2 x (6.0874+6.160) x0. 3 = 1.837 m* 1.837
B O A-A
EDHELEY 1/2x (0. 95+1. 456) x 5. 06 = 6.09 m?
B-B
1/2x (0.95+1.461) x5.11 = 6.16 m?
E&E
1/2x (5.06+5.11) x1.118x0. 3 = 1.7 m?
& = 13.96 m? 13.96

NO. 8+10. 90543k R 1.0




SitEE 38/hOtT M B2 H = No.
EmEE
o
E A-A B-B
ggj
] —
avy—
\iﬁ 1590
=
1.0& Y
£ 7 B g = B H 2
3E/NOLT
avy)—+ A-A
18-8-40 1/2 % (0.95+1.59) x 6. 40 = 8.128 m®
B-B
1/2x (0.95+1.595) x 6. 45 = 8.208 m®
1/2 x (8.128+48.208) x0. 3 = 2.450 m* 2. 450
B O A-A
EHEE 1/2x (0.95+1.59) x 6. 40 = 8.13 m?
B-B
1/2x (0.95+1.595) x 6. 45 = 8.21 m?
E&E
1/2 % (6. 40+6.450) x1.118x0.3 = 2.15 m?
= 18 49 m? 18. 49
NO. 10+10. 043 B 1.0
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SEtEE SSENHHEE #

J!I
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|
= TN NN
=
o= s 7
JO 0.5+0.45H IOL =R H
l LAY { RC-40
% b7 &t =1 = B
IS E AR
EPZIELS 1/2% (0.540.5+0. 45 xH) xH

18-8-40 = 0.5H+0.225H"2 m




35 E N BEEE (H<2. Om)

L & SRS ER I T 1 R 1/2
1S avy)—kmd)
pil =1 H B OB 0.5H+0.225H " 2 1%
(m) (m) B O m | FHWE | B = FE B = F ¥ EE =3
No.6 + 8.000 | 0.50 0. 31
No.6 + 10.000 | 0.78 2.000 0.53 0. 420 0.84
No.6 + 16.933 | 1.73 6.930 1.54 1.035 7.17
=] & 8.930 8.01




SSENAPEEE (2. On=H=5. Om)

frbe

& 2/2
B avy)—kmd)
pil =1 H B OB 0.5H+0.225H " 2 1%
(m) (m) | FHWE | B = ¥R = ¥ =3
No. 6 16.933 | 1.73 1.54
No. 7 1.557 | 2.40 3.920 2.50 2. 020 7.92
No. 7 6.792 | 3.20 5.200 3.90 3.200 16. 64
No. 7 6.792 | 2.52 0.000 2. 69 3.295 0.00
No. 7 9.503 | 2.96 2.710 3.45 3.070 8.32
No. 7 10.000 | 3.05 0. 500 3.62 3.535 1.77
No. 7 11.000 | 3.22 1.000 3.94 3.780 3.78
No. 7 11.000 | 2.42 0.000 2.53 3.235 0.00
No. 7 15.000 | 3.10 4.000 3.71 3.120 12.48
=] & 17.330 50. 91







£5tE 1/1

=
B W B & 1 = Byl ## & |/ =

avh ) — hEE SEmE| o 328.0

(100m*24 1))

avyy—raag | 18-8-40 t=150 100.0
E i @6 150x150 95.0
iz g RC-40 t=150 100.0
HEURGEE T 3.0
AUy FiIN—=|  $25x700 36.0
2 BX/N—| D13 L=3.9m 93.0
Fxz7—| D13 L=0.36m 12.0
SEA B | B AR EE Y 6.0

o 0 B 41 BEHt=10 16.3




1K E E B OE
a9 ) — MEEEE (W=4. Om)
il & By | EEXIZER i
No. 6+ 80~ No. 10+ 100 m 82.00
S e - 82.0 328. Om2




SHEE  oLh - R w B ¢ & 2= No.
4000
10 3800 100
o BE o6 Tt
150%150
I~ b s
/ b e =
/ \ BE
RC-40
THE B | &
4000
00 300 78400=2800 300 200
200 = B H 10 700 2 AR

|
I | ﬁ%iﬂ%ﬁ Fr7
SO ZAN=D13
j o O\ [
\R'}-‘;j’z\'—q&ZSHDD
18T
EF B B |#E
Ay Fii— $25x700 = 12
2 0RIN— P13 L=3.9m kg 31
FIF— D13 L=0. 36m LE] 24
FABHEH MEGEAKXEEY | ke 2
100m2 (25m) 4 1)
% b7 & g = B4 #H =2
avy ) —
avy ) — e
=150 425 = 100.00 m? 100. 00
K
®6 150x150 3.8x25 = 95. 00 m? 95. 00
23]
t=150 RC-40 4x725 = 100.00 m? 100. 00
BIGEEH# T
(8mAsIF=) 258 = 3.13 B 3
1)y FiN—
& 25 x 700 12x3 = 36.00 x 36. 00
HAaR/IN—
D13 L=3.9m 31x3 = 93.00 kg 93. 00
FxT7—
D13 L=0.36m 24x3 = 72.00 1@ 72. 00
EYNEE X
METAREEME  2x3 = 6. 00 kg 6. 00




BHEEaVI - RERMEY B 2 O OB & No.

4000
100 3800 100
WEMEETAEMIE vhy— g
HEHERE | R _¢6 S RGEEEER
150150
. Y ‘b*m‘,;{
// T , i E
/ \ B8
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